Systems of Inequalities		Name: ____________________
Word Problems		Foundations of Math 11

1. A company makes backpacks and briefcases. Daily output cannot exceed a total of 40 backpacks and briefcases. A maximum of 20 backpacks can be made in one day. The maximum daily output of briefcases is 30.

    a) Define variables x and y for this problem.
	
Let x represent _________________________________
Let y represent _________________________________

    b) State the constraints given in this problem. Write an inequality for each constraint.




    c) What implicit constraints exist for the variables? Write an inequality for each     
         implicit constraint.





    d) Draw a graph that shows the possible numbers of bags that can be made in 1 day.
      Label the axis. Use a scale of 5 on both axes.


	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



One possible solution is (          ,          )
 Show that this works in all 3 inequations







2. Alyssa plays soccer and baseball. She burns 400 calories/h playing soccer and 50 
    calories/h playing baseball. Each week she is willing to spend at most 20 h exercising    
     and wishes to burn at least 4000 calories.

a) Define variables x and y for this problem.

            Let x represent _________________________________
            Let y represent _________________________________

     b) Write a system of inequalities to represent the constraints in this problem.





      
c) Draw a graph to show the time Alyssa could spend on each activity in one week.
          Label the axis. Use a scale of 2 on the x- axis and 5 on the y-axis

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	





One possible solution is (          ,          )
 Show that this works in both inequations






3. A company manufactures solar-powered calculators and battery-powered calculators. 
    In one day, a maximum of 110 solar-powered and 80 battery-powered calculators can    
    be made. Each solar-powered calculator requires 1 work-hour to produce and each 
    battery-powered calculator requires 2 work-hours. There are a maximum of 200 work-
    hours available each day.

    a) Define variables x and y for this problem.

             Let x represent _________________________________
            Let y represent _________________________________


b) Write a system of inequalities to represent the constraints.





      
c)  Draw a graph to determine the region that satisfies all inequalities.
[bookmark: _GoBack]           Label the axis. Use a scale of 10 on both axes.

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	




One possible solution is (          ,          )
 Show that this works in all 3 inequations



